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01 AP 22| H| 183,824 186,888 N 3,064
OJl2gesdssy (=& 4l)
500,000& * 269 * 95% 12,350
o2 (J1=4Hl|)
8,000 « 30 * 82 * 128 » 95% 21,888
OHTHE 22 (SFa,%1D)
50,000& = 20 = 63 * 95% 570
OXE EHA S 012 2
150,000 » 41 * 95% 570
OYHM HINAE 7Y 247
Odlatrg < 100,000€ = 23| * 95% 190
O&=A I8 XM 30,000 = 23] * 95% 57
OAMNRA HxD| Az
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0Y - =xAg 144,300
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02 MRt R =AY 9,400 9,130 270
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O I = (400E N XN ) 30,000& = 180YH 5,400
04 2SI L RF=AH| 5,280 5,100 180
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OXNMIH D= 14,400
04301 2 & 400,000& = 14 = 12& 4,800
O I 100,000& » 8Y x 12& 9,600
03 S8YRZEHI 135,000 139,200 A4, 200
oOels=sH (B2Esg=) 107,400
O630l6H(Leta 2H2)
50,000& = 169Y * 12& 101,400
OFHJYAZH 50,000 * 6 x 12& 3,600
OAlIZEE &S HI LI HI 50,000& « 49 « 12& 2,400
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100,000& = 23Y¥ * 12& 27,600
307 QI2t0| ™ 79,235 70,914 8,321
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